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template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis/i/=Inf;
disisrc|=0;
g.push(make pair(disisrc|,src));
lq.empty
pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u|=true;
int i=head/ul;i;i=edge|i].next
int v=edgeli].to;
dis|v/>edge|i]|.w+dis|u
dis|[v|=edge|i]|.w+dis|u];
g.push(make pair(disiv!,v));
ool
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OO0000 $0(n\log m\log v)$

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>

#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==" "||c=="\n"||c=="\r")c=getchar();
OF
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inline void write(LL x
register char c , len=0;
X putchar('0'),void
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=
len)putchar(c|len-- |+

.
’

’

’

inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN=1e4+5,MAXM=5e4+5,Inf=2e9;
struct Edge

int to,w,next;
edge [ MAXM<<1];
int head [ MAXN|,edge cnt,val /MAXN|, limit;
void Insert(int u,int v,int w

edge|++edge cnt].next=head|u];

edge|edge cnt].to=v;edgeledge cnt!.w=w;

head|u!=edge cnt;

.
’

1

template <typename T>
struct dijkstra

T dis[MAXN];

bool vis[MAXN];

priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis[src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop
int u=temp.second;
vis|u

’

vis|u!/=true;
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
val v/ >limit
dis/v/>edge/i!.w+dis|u
dis|v/=edge/i|.w+dis|u/;
g.push(make pair(dis|v],v

’

dijkstra<LL> dj;
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int main

int n=read int(),m=read int(),b=read int(),u,v,w,lef=Inf,rig=0;
_rep(i,1,n

val|il=read int();

lef=min(val[il, lef);

rig=max(vallil,rig);

m_-
u=read int(),v=read int(),w=read int();
Insert(u,v,w);
Insert(v,u,w);

int mid,ans=-1;
lef<=rig
mid=lef+rig>>1;
limit=mid;
dj.solve(l,n);
dj.dis[nl<=b
ans=mid;
rig=mid-1;

lef=mid+1;

ans>=
enter(ans);

puts ("AFK");

1
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1. $[x,yMto [x+1,yI(x\It y)$
2. $[x,yI\to [x,y-11(x\It y)$

3. $[x,yl\to [x-1,y](x\gt 1)$
4. $[x,yI\to [x,y+11(y\lt n)$

O00000%$120000000000000 $c_i$n

O0000000000000000 $[L,n$00000 $IxxI(WN\tx\tn$f0ODOOOO
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar
sign|=c=="'-";c=getchar
t=(t<<l)+(t<<3)+(c&l5);c=getchar

while(!isdigit(c
while(isdigit(c

return sign?-t:t;

inline LL read LL

LL t=0;bool sign=false;char c=getchar
sign|=c=='-";c=getchar
t=(t<<l)+(t<<3)+(c&l5);c=getchar

while(!isdigit(c
while(isdigit(c

return sign?-t:t;

inline char get char
char c=getchar();

while(c=="

return c;

inline void write(LL x

register char c[21],len=0;
if(!x)return putchar('0’

17(x<0)x=-x,putchar('-"

while(x)cl[++len|=x%10,x/=10;

"I |Jc=="\n"||c=="\r")c=getchar

’
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len)putchar(c/len-- |+ ;

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=505%* ;
const LL Inf=1lel2;
struct Edge
int to,w,next;
edge [ MAXN<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul};
head|u!=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis|[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >
>q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|[i|=Inf;
dis|srcl|=0;
g.push(make pair(dis|srcl,src));
Iq.empty
pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u!/=true;
int i=head|u;i;i=edge!i].next
int v=edgel[i].to;
dis|v/>edge|i]|.w+dis|u
dis|vi/=edge[i|.w+dis|u];
g.push(make pair(dis|v],v));

dijkstra<LL> solver;

int n,m;

int Id(int r,int c r-1)*(n-1)+c;
int main

n=read int(),m=read int();
int s=Id(n-1,n-1)+1,t=s+1;
int r,c,w,1idl,id2;char d;
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m- -
c=read _int(),r=read int(),d=get char
idl=Id(r-1,c);
d=="L"
r==n
id2=t;

id2=Id(r,c);

id2=Id(r-1,c-1);
Insert(idl,id2,w) ;Insert(id2,idl,w);

solver.solve(s,t);
solver.dis|[t]==Inf
pUtS ||_1|| ;

enter(solver.dis|[t]);

’

oggoooon

$S\text{SPFA}$s 00O DO

Ooooo0o0 $0(Km)$sgo 0o oododgd $0(nm)sd

template <typename T>
struct SPFA
T dis[MAXN];
int len[MAXN];
bool inque MAXN];
bool solve(int src,int n

gueue<int>q;
mem(inque,®);mem(len,0);
_rep(i,1,n
dis/i!=Inf;
disisrc|=0;len[srcl|=1;
g.push(src);
inquelsrc|=true;
Iq.empty

int u=q.front();q.pop();
inquelul=false;

int i=headl/ul;i;i=edgeli].next

int v=edgel[i].to;

,w=read int

.
’
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HEN
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od

dis|v|>dis|ul+edgeli].w
dis|[v]|=dis|ul+edge[i].w;
len|vi=lenlul+1;
lenivi>n
false;
linque|v
g.push(v);
inquel|v|=true;

true;

000 $$\left \{ \begin{array}{l} x {al}-x {b1}\ley 1\\ x {a2}-x {b2}\ley 2\\\cdots\\ x_{am}-
x_{bm}\le y m\end{array} \right. $$

od

O $x j-x_Nley$ ODOOD $x \lex i+y$0 00000000000 0OOO0O $\text{dist} j\le
\text{dist} i+\text{w} {i\toj}$ 000

00000000 $x0$0$x 0$ 0000 000ODODO0OO$S(OODO00D0ODOO0DODODODOODOOODn
OOoooOobDooooo)yoooo

0000000000000 $x i=\text{dist} i+k$ 00D OO0ODOOOOO

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
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#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==" "||c=="\n"||c=="\r")c=getchar();
O

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len|=x%10,x/=10;
len)putchar(c/len--+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1le4+5,MAXM=5e5+5,Inf=1e9;
struct Edge
int to,w,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge/ edge cnt|.to=v;edge edge cnt|.w=w;
head|u!=edge cnt;

template <typename T>
struct SPFA
T dis[MAXN];
int len[MAXN];
bool inque!MAXN];
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bool solve(int src,int n
queue<int>q;
mem(inque,0);mem(len,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;len|srcl=1;

g.push(src);
inquelsrc|=true;
Iq.empty

int u=q.front();q.pop();
inquelu =false;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
dis|[v]|>dis|u/+edgeli].w
dis|/v/=dis/ul+edgeli] .w;
len/vi=lenlul+1;
len|(vi>n
false;
linquelv
g.push(v);
inquelv =true;

true;

SPFA<int> spfa;
int main

int n=read int(),m=read int(),u,v,w;
_rep(i,l,n)Insert(n+1,i,0);
m--
u=read _int(),v=read int(),w=read int();
Insert(v,u,w);

spfa.solve(n+1,n+
_rep(i,1l,n
i>1)putchar(' ');
write(spfa.dis[i]);

puts("NO");

’
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$\text{Floyd}$ 00 0O
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int n,dis[MAXN]| MAXN];

void Floyd
_for(i,0,n
_for(j,0,n
dis!i|[j|=Inf;
_for(i,0,n
dis[i][1]=0;
_for(k,0,n
_for(i,0,n
_for(j,0,n
dis|[i|[jl=min(dis(i!|[j|,dis[i| kI+dis(kI[]j]);

00
00pll19
oo

OO0 $n$0000$m$ 0000DO0OC0OOO $tis 0000000 (M@O $tisoO)Ho

$q$ 000000000 $t$00 $dis(i,j)spoCcoon sts00O0
oo

OO0 $\text{Floyd}$ 0D OO OO0 $\text{dp}$]
$dis[k][iI[jI$ 000000 $k$0DDODOOODOOSI$NSs 000 D00DOODODODOODOODOODO

goddgoooooooooo

#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
#include <cmath>
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#include
#include
#include
#include
#include
#include

<vector>
<set>
<map>
<stack>
<queue>
<ctime>

<cassert>
#define for(i,a,b) for(int i=(a);1i
#define rep(i,a,b) for(int i=(a);
#define mem(a,b) memset(a,b,sizeof(a
using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c—getchar ;

#include
++1)
++1)

<(b);
i<=(b);
))

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;
inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-"';c=getchar();

isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""[]c=="\n"||c==
c,

‘\r')c=getchar();

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;
len)putchar(c/len--+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar
const int MAXN=200+5,Inf=1e9;

int dis[MAXN|[MAXN],t[MAXN;

int main

int n=read int
_for(i,0,n
tiil=read int();
_for(i,0,n
_for(j,0,n
dis{i|[j!=Inf;
m--
u=read int

,m=read _int(),u,v,w;

,v=read int(),w=read int();
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dis|ul[vi=dis|v]|ul=w;

_for(i,0,n
dis[i][i]=0;
int gq=read int(),pos=0,temp;
q__
u=read _int(),v=read int(),temp=read int();
t/pos | <=temp&&pos<n

_for(i,0,n

_for(j,0,n

dis/i||[j/=min(dis|[i![j],dis!i| pos|+dis|pos||[j!);
poS++;

tiul>temp||tlv|/>temp]||dis|ul[v|==Inf
enter(-1);

enter(disfullv]);

$\text{Johnson}$ 0 0 00O

0 0O p5905

0000000000000 O00bO0DOO0DOss0nDoog

000 $\text{SPFA}$0 00000 00DODODOO0ODOOOOOODOOOO0O $h.isn
00000000000 $w+h u-hv$j00O0O0ODO0O0O $s\tot$ 00000

\begin{equation}(w_{s,p1}+h s-h {pl})+(w _{pl,p2}+h {pl}-h {p2})+\cdots+(w_{pk,t}+h {pk}-
h t)=w_{s,pl}+w {pl,p2}+\cdots+w {pk,t}+h s-h t\end{equation}

O00oo0o0oooooooOon
00000 $\text{SPFA}$ D OO 0O $h We h_u+w_{u,v}$00 $w_{u,v}+h u-h v\ge 0%
O0000D00000000000 $n$ 0 $\text{Dijkstra}$ 00000000

00000 $0(nmlogm)$00 00000

#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
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#include <cmath>
#include <vector>
#include <set>
#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"]||c=="\r')c=getchar();
C;

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
X)cl++len]=x%10,x/=10;

len)putchar(c[len--]+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=3e3+5,MAXM=9e3+5,Inf=1e9;
struct Edge
int to,w,next;
edge MAXM|;
int head MAXN|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u!=edge cnt;

template <typename T>
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struct SPFA
T dis MAXN];
int len[MAXN];
bool inque[MAXN!;
bool solve(int src,int n

queue<int>q;
mem(inque,©);mem(len,0);
_rep(i,1,n
dis|[i|=Inf;
dis|src|=0;len(srcl=1;
g.push(src);
inque/src|=true;
Iq.empty

int u=q.front();q.pop();
inquelu /=false;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
dis|[v|>dis|u/+edge|i].w
dis|/v/=dis|ul/+edge|i] .w;
len/vi/=lenlul+1;
lenlvi>n
false;
linquelv
g.push(v);
inque|v|=true;

true;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis|[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >
=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|[i|=Inf;
dis|[src|=0;
g.push(make pair(disisrc|,src));
Iq.empty
pair<T,int> temp=q.top();q.pop();
int u=temp.second;
visiu
vis|ul=true;
int i=head(u];i;i=edge[i].next

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

;8%}8;/19 2020'202”%”‘3'Egal'—sm”g:jxmzom: https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%ES%AE%BA_1&rev=1595162328

20:38

int v=edgel[i].to;
dis|v/>edge|i].w+dis|u
dis|vi/=edge[i|.w+dis|u];
g.push(make pair(dis|v|,v));

SPFA<int> spfa;
dijkstra<int> dj;
int main

int n=read int(),m=read int(),u,v,w;
_for(i,0,m
u=read int(),v=read int(),w=read int();
Insert(u,v,w);

_rep(i,1,n
Insert(n+1,1,0);
Ispfa.solve(n+l,n+
puts("-1");

’

_rep(u,1,n
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
edge|i|.w+=spfa.dis|ul-spfa.dis|v];

_rep(i,1,n
LL ans=0;
dj.solve(i,n);
_rep(j,1,n dj.dis[jl!=Inf
dj.dis[j]-=spfa.dis|[i]-spfa.dis[j];
_rep j' N
ans+=1LL*j*dj.dis[j];
enter(ans);

goon

goo

UVAl4l6
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go

OO0 $n$000$Mm$ 000000 $c$0000000DO0O0O0O0OOO0O
00000000000 $c$0000@OUOOnoooooon $Ls)

OO00d $n\le 100,m\le 1000,L\le 10~8$%

ERN

00000 $\text{Dikstra}s 0000000000 OO0ODOOO
gobogoboodbobooobbuooobooonoo

000000000000 $\text{Dikstra}$ 000000000 O00O0O0OOOOODOOOOOODO
HEN

gboboooboboonooooon

00000000000 $n-1$00000000000 $n-1$ O $\text{Dijkstra}$[

00000 $0(n™2m\log m)$[]

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

#define for(i,a,b) for(int i=(a);i<(b);++1)

#define rep(i,a,b) for(int i=(a);i<=(b);++1i)

#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;

typedef long long LL;

inline int read int
int t=0;bool sign=false;char c=getchar();
while(!'isdigit(c sign|=c=='-";c=getchar();
while(isdigit(c)){t=(t<<l)+(t<<3)+(c&15);c=getchar();
return sign?-t:t;
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inline LL read LL
LL t=0;bool sign=false;char c=getchar

’

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"]||c=="\r"')c=getchar();
O

inline void write(LL x
register char ¢ , Llen=0;
Ix putchar('0'),void();
x<0)x=-x,putchar('-"');
X)cl[++len|=x%10,x/=10;
len)putchar(c/len-- |+ ;
inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN= , MAXM= ,Inf=1e9;
struct Edge
int from,to,w,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge/edge cnt!.from=u;edgeledge cnt|.to=v;edgeledge cnt].w=w;
head|u!=edge cnt;

.
’

1

template <typename T>
struct dijkstra
T dis[MAXN];
int p[MAXN!;
bool vis|[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >
=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|[i|=Inf;
dis|srcl|=0;
g.push(make pair(dis|srcl,src));
Iq.empty
pair<T,int> temp=q.top();q.pop
int u=temp.second;
vis|u

’

’
vis|[ul=true;
int i=head|u;i;i=edge!i].next
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edgeli].w<

int v=edge(i].to;
dis/v/>edge/i|.w+dis|u
dis|v/=edge[i|.w+dis|u/;
plvi=i;
g.push(make pair(dis|v],v));

dijkstra<int> dj;
vector<int> edge w/ MAXN||[MAXN!;
bool tree edge|[MAXN| MAXN| MAXN!;
int edge id[MAXN| [ MAXN];
LL dis sum[MAXN];
int n,m,L;
LL get ansl
LL ans=0;
_rep(i,1,n
dis sum|[i|/=0;
dj.solve(i,n);
_rep j' N
i==j

int u=edgeldj.pljl].from,v=edge(dj.pl]

.to;

tree edgelil|ullvi=tree edgeli|(v||ul=true;

dis sum|i|+=dj.dis|j|==Inf?L:dj.dis]|]
ans+=dis sum/[i];
ans;
LL get ans2(int u,int v
LL ans=0;
_rep(i,1,n
Itree edgelil|ullv
ans+=dis sum|i];
dj.solve(i,n);

_rep(j,1,n
ans+=dj.dis|[j/==Inf?L:dj.dis[j];

ans;

int main

~scanf ("%d%d%sd" ,&n,&m, &L

’
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edge cnt=0;mem(head,0);
mem(tree edge,0);
_rep(i,1,n
_rep(j,1,n
edge wlil[j].clear();
int u,v,w;
m--
u=read _int();v=read int();w=read int();
edge w(ul[v].push back(w);edge w[v][u].push back(w);

_rep(i,1,n
_rep(j,i+l,n
edge w(il[jl.size
sort(edge w/il![j]|.begin(),edge wiil|j!.end ;

Insert(i,j,edge wiill] ;edge id[i][j/=edge cnt;
Insert(j,i,edge wiil[j ;edge id[j![i/=edge cnt;
LL cl1,c2;
cl=c2=get _ansl();
_rep(i,1,n

_rep(j,i+l,n
edge w(il[jl.size
edgeledge id[i|[j!!.w=edgeledge id[j|/i]].w=edge wl/i|[j!.size()>17edge w|i

] R
c2=max(c2,get ans2(i,j));
edge/edge id/i![j!]|.w=edgeledge id|[j|/i]]|.w=edge w[i]|] ;

space(cl);enter(c2);

oo

guooooon
HEN

00000 su$0000000000000000O $u$00000000

0000 $e$ 000000000000 0ODO0O0O $e$0000000O
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00 $text{dfs}$ 00 0000000000000 O00O0OODOO0O0ODOOOO0ODOOOOOODOOOO
oo ouo

O $\text{low}u)$ O $u$ 0000000 $us O %faus 00 0O00OO0OO0O0OOOO $\text{pre}$ 00

OO0 $u$ 0000000 $u$s00000 %$u$ 0000000000 $u$ 00000000 $u$s00
0000 $v$ 00O $\text{low}(v)\ge \text{dfs id}(u)$[

OoDo0o0o0O0O $\text{low}(v)\gt \text{dfs_id}(u)$0C $(u,v)$ O OO

000 $\text{dfs}$ 000000 $\text{low}$ 000 0DO0OO0O00O0ODOOOOODOOOOOOOOO
O0O0O0O0oo $0(n+m)s$0

int low|[MAXN!,dfs id[MAXN|,dfs t;
bool iscut[MAXN];
void dfs(int u,int fa
low/ u/=dfs id|u|=++dfs t;
int child=0;
int i=head|u];1i;i=edge[i].next
int v=edgel|i].to;
v==Tfa :
ldfs id[v]){/0000O
dfs(v,u);
low ul=min(low/ul,low|[Vv]);
low|v|>=dfs idlu|&&u'!=fa
iscut|ul=true;
child++;

low/u/=min(low/ul,dfs id(v!);/00 [

u==fa&&child>=2)//01 []1 ][] []
iscut/ul=true;

guoooobobod

ugd

ddddooooooooooo

e JO0DDOUOOO0ODLDOOODODOOODDO
e 000000 0UUUUUOUUOUUULUUUUU
e 10O DODODO

gobogooboboooboo-ooboooobobooobbo-oobboooboboo-obbood
doboooobobooobbooooboo
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O0-0000000000000000 $\text{dfs}$s 00000000 $\text{dfs}$s 0000000
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0000000000000 00000000000000000000000000000
$0(n+m)$Q
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int low/MAXN|,dfs id[MAXN|,dfs t,bcc id[MAXN|,6bcc cnt;
vector<int> bcc!MAXN/;
stack<pair<int,int> >Stack;
bool iscut|/MAXN];
void dfs(int u,int fa
low/u|=dfs idlu|=++dfs t;
int child=0;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
v==Fa ;
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low/u!=min(low|ul,low[Vv]);
low|v|>=dfs idlu
iscut|ul=true;
pair<int,int> temp;
bccl++bcc_cnt!.clear();
true
temp=Stack.top();Stack.pop();
bcc_id[temp.first]|!=bcc cnt
bcc_id[temp.first|=bcc cnt;
bccibcc _cnt].push back(temp.first);

bcc id| temp.second|!=bcc cnt
bcc_id|temp.second|=bcc _cnt;
bccibcc cnt].push back(temp.second);

temp. first==u&&temp.second==v

’
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child++;

dfs id/v|<dfs id|u
Stack.push(make pair(u,v));
low/u|=min(low/u],dfs id(v]);

u==fa&&child<
iscut/u/=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[i
dfs(i,i);

go-0000bobooooog

e J00DOUOOO0DOOO-DDOOODLDOOUODLDUODDOO-ODDOO
e JO0DUOOODLDOOODODOOODDO

go-jgdddoddoouooouo-cooboooog
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

U
U

goboooood

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

oobooOoswoooooooooboo-booo0obobOOobDOoooOoboOoO$soD-

#define for(i,a,b) for(int i=(a);i<(b);++1i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-"';c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"||c=="\r
c)

c=getchar();

inline void write(LL x
register char c[21],len=0;
Ix putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;

len)putchar(c|len--[+48);
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inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN= , MAXM= ;
struct Edge
int to,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge/ edge cnt!.to=v;
head|u!=edge cnt;

int low/MAXN|,dfs id/MAXN|,dfs t,bcc id[MAXN|,bcc cnt;
vector<int> bcc[MAXN];
stack<pair<int,int> >Stack;
bool iscut[MAXN];
void dfs(int u,int fa
low/u|=dfs id u|=++dfs t;
int child=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
v==fa ;
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low/ u/=min(low|ul,low[Vv]);
low|v|/>=dfs id[u
iscut|ul=true;
pair<int,int> temp;
bcc|[++bcc_cnt].clear();
true
temp=Stack.top();Stack.pop();
bcc id[temp.first]|!=bcc cnt
bcc _id[temp.first|=bcc _cnt;
bccibcc cnt].push back(temp.first);

bcc id|temp.second|!=bcc cnt
bcc_id[temp.second|=bcc cnt;
bccibcc cnt].push back(temp.second);

temp. first==u&&temp.second==
child++;
dfs id/v/<dfs id|u

Stack.push(make pair(u,v));
low/ u!=min(low|u],dfs idiv]);
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u==fa&&child<
iscut|u]|=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc_id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i,i);

int main

int kase=0,n,m,u,Vv;
m=read int
n=0,edge cnt=0;
mem(head, ) ;
m__
u=read int(),v=read int();
n=max(n,u),n=max(n,v);
Insert(u,v);
Insert(v,u);

find bcc(n);
int ansl=0;
unsigned long long ans2=1;
_rep(i,1,bcc cnt
int cnt=0;
_for(j,0,bcclil.size
iscutibcclil|j
cnt++;

cnt==
ansl++,ans2*=bcc[i].size()-1;
cnt==
ansl+=2,ans2*=bcc(i].size()*(bccli]l.size()-1)/2;

_rep(i,1,n
I'bcc _id[1i

ansl++;

printf("Case %d: %d %llu\n",++kase,ansl,ans2);
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goodggo
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U
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godooooooooodgao
goooo-oooouoooon
int dfs id[MAXN|, low MAXN|,dfs t,scc id[MAXN|,scc cnt;
vector<int> scc[MAXN];
stack<int>Stack;
void dfs(int u
low/ u!=dfs id|u|=++dfs t;
Stack.push(u);
int i=head|u];1i;i=edge[i].next
int v=edgel|i].to;
ldfs id|v
dfs(v);
low ul=min(low/ul,low/|[v]);//0 ][]

Iscc_id[v])/0000O0O
low/u!=min(low|/u],dfs idiv]);

low ul==dfs id[u
int temp;
scc[++scc_cnt].clear();
true
temp=Stack.top();Stack.pop();
scc_id[temp|=scc_cnt;
scciscc_cnt].push back(temp);
temp==u

’

void find scc(int n
mem(dfs id,0);
mem(scc id,0);
dfs t=scc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i);
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s 0000000000 $\text{DAG}0 000 ODODCOOOOOODO
0000000 $a$ 00000 $0$0$b$ 00000 $0$00 00O 0D $\max(a,b)$ 10000
OoO0o@Oooooo)

$\text{2-SAT}$ O O

good

0000000 $(\neg)x_i\text{ opt }(\neg)x_j$ 0000000000

OO0 $x is0000000%Mtext{opt}$ 0000 O0O0OODO

gooao

D00 $xi$ 00 $y {2i}$0 $y {2i+1}$ 000000 $y {2i}$00 $xi$ D00y {2i+1}$ 00
$x_i$ 000

D00 $x$ 0000 $y$0000 $y'$i0 000000000000 0000

$$ \begin{equation} x_i\lor x_j \iff {y'} i\toy j,y i\to {y'} j\\ x_i\oplus x_j\iff {y'} i\toy j,y j\to
{y'}_i,y_ivto {y'} j.{y'} j\toy i\ x_i\iff {y'} i\toy i\end{equation} $$

0000 $\text{Tarjan}$ 0000000000000 DOOOOO $y$0sy's000pooooooooOO
googod

00000000 $y$0sy's 00000000000 0O00O0ODO0O0O0O0 $\text{Tarjan}s 0O OO0
0000000000 $0(n+m)s$fd

bool query(int n
_rep(i,1,n
scc_id|i<<l|==scc_id|i<<I1|
false;

Bool[i]=scc id[i<<l]>scc id[i<<l1]|1];

true;

an

UVA1391
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0000000 $x$000000000 $A$0000000 $x$000000000 $B$000 000
000000 $C3
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0000000000000 000 $xi=trues 0000000 $ASQ0DOOODO0O $C$0
0000000000000 00 $xi=true$s000000OO $BSOOCOOODO $C$0
0000000000000 0000000000 $x$00000000 $x_i\oplus x_j$0

0000000000000 000D0000 $Cs00nooog $x illor x jsO

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar();

lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();
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lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar
sign?-t:t;

’

inline char get char
char c=getchar();
C::I L | |C::'\n' | |C::'\|“I C:getchar 7
c;

inline void write(LL X
register char c , len=0;
I'xX putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN=2e5+5,MAXM=1e5+5;
struct Edge
int to,next;
edge [ MAXM<<2 |;
int head MAXN]|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge/edge cnt].to=v;
head|u|=edge cnt;

’

’

int dfs_id[MAXN|, low MAXN|,dfs t,scc id[MAXN|,scc _cnt;
vector<int> scc/MAXN];
stack<int>Stack;
void dfs(int u
low/u/=dfs id|u|=++dfs t;
Stack.push(u);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
Idfs idlv
dfs(v);
low|ul=min(low/u],low[v]);

Iscc_idlv
low/u|=min(low/u!,dfs id[v]);

low u/==dfs id[u
int temp;
sccl++scc_cnt].clear();
true
temp=Stack.top();Stack.pop();
scc id|temp/=scc cnt;
scclscc cnt].push back(temp);

https://wiki.cvbbacm.com/ Printed on 2025/07/13 02:45



2025/07/13 02:45

31/32

o001

temp==u

void find scc(int n
mem(dfs id,0);
mem(scc_id,0);
dfs t=scc_cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i);

bool Bool MAXN]|,type MAXN];
bool query(int n
_rep(i,1,n
scc_id[i<<l]|==scc_id[i<<I|
false;

Bool|il=scc id|[i<<l|>scc id[i<<
true;

int Age[MAXN];
int main

int n,m,u,v;
~scanf ("%d%d",&n, &m

n==0&&m==
mem(head, ) ;edge cnt=0;
int s=0;
_rep(i,1,n
Agelil=read int(),s+=Agelil;
_rep(i,1,n
typeli/=(Age/ i/ *n>=s);

m--
u=read int();
v=read int();

typelul==typelv
Insert(u<<l,v<<1|1);

Insert(v<<l|1l,u<<l);
Insert(v<<l,u<<l|1);
Insert(u<<l|1l,v<<l);

Insert(u<<l,v<<l|1);
Insert(v<<l,u<<l|1);
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find scc(in<<l);

query(n
_rep(i,1,n
Bool| i
typeli
pUtS ||A|| ;
pUtS ||B|| ;
puts("C");

puts("No solution");

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link: .
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%E8%AE%BA_1&rev=1595162328 ‘fijt§

Last update: 2020/07/19 20:38

https://wiki.cvbbacm.com/ Printed on 2025/07/13 02:45


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%E8%AE%BA_1&rev=1595162328

	图论 1
	最短路
	非负权边单源最短路
	$\text{Dijkstra}$ 算法板子
	例题 1
	题意
	题解

	例题 2
	题意
	题解


	带负权边单源最短路
	$\text{SPFA}$ 算法板子
	例题
	题意
	题解


	带负权边全源最短路
	$\text{Floyd}$ 算法板子
	例题
	题意
	题解

	$\text{Johnson}$ 算法板子

	算法练习
	习题一
	题意
	题解



	连通分量
	无向图的割顶与桥
	定义
	算法思想

	无向图的双连通分量
	定义
	算法思想
	例题
	题意
	题解


	有向图的强连通分量
	算法思想
	性质

	$\text{2-SAT}$ 问题
	问题描述
	算法思想
	例题
	题意
	题解





